

طرحه سوال: معادله یاردهم سر - تلف ۲۳

$$\left. \begin{array}{l} \log_n^m = a \Rightarrow m = n^a \\ \log_{mn}^{m^r n} = b \end{array} \right\} \log_n^{ra+1} = b \Rightarrow \frac{ra+1}{a+1} \log_n^r = b = \frac{ra+1}{a+1} \quad -1$$

$$\frac{a+1}{a+1} < \frac{ra+1}{a+1} < \frac{ra+r}{a+1} \Rightarrow 1 < \frac{ra+1}{a+1} < r$$

$$\frac{ra+1}{a+1} = b \Rightarrow [b] = 1$$

الف) $y = \sqrt{\frac{x}{\log_{1/r} x}} \rightarrow \log_{1/r} x \neq 0 \Rightarrow x \neq 1$ -2

	0	1
x	-	+
$\log_{1/r} x$	X	+
$\frac{x}{\log_{1/r} x}$	X	+

(0, 1] = Df

ب) $y = \frac{\log_{1/r} x - x - r}{\sqrt{x^2 - 1} + 1} \rightarrow x^r - x - r > 0 \Rightarrow (x-r)(x+1) > 0 \Rightarrow x > r, x < -1$

$x^r - 1 > 0 \Rightarrow x^r > 1 \Rightarrow x > 1, x < -1$

$\sqrt{x^2 - 1} + 1 \neq 0 \quad \checkmark$

$$Df = (-\infty, -1) \cup (r, +\infty)$$

$$r \log_x^a + \log_a^{\sqrt{x}} = r \xrightarrow{x=a} r \log_a^a + \log_a^r = r \times \frac{1}{r} \log_r^a + \log_a^r = r \quad -3$$

$$t + \frac{1}{t} = r \rightarrow t^r - rt + 1 = 0 \Rightarrow (t-1)^r = 0 \Rightarrow t=1 \Rightarrow a=r^t$$

$$(\log_r^{\frac{a}{r}}) x^r + (\log^a) x - \log^{1a} = 0 \quad \log \frac{a}{r} + \log^a - \log^{1a} = \log \frac{a}{r} + \frac{r}{r} \log \frac{a}{r} = 0 \quad -4$$

مجموع ضرایب درجه ۲

$$x_1 = 1$$

$$x_r = \frac{c}{a} = \frac{-\log^{1a}}{\log \frac{a}{r}} = -\frac{\log^a + \log^r}{\log^a - \log^r}$$

$$|x_1 - x_r| = \left| 1 + \frac{11}{r} \right| = \left| 1 + \frac{11}{r} \right| = \frac{12}{r}$$

$$\frac{\sqrt{11} + \sqrt{12}}{\sqrt{11} - \sqrt{12}} = -\frac{11}{12} = -\frac{11}{r}$$

$$\log_r^v = r/r$$

$$\log_{\omega}^r = 1/0 \Rightarrow \log_r^{\omega} = r \rightarrow \log_r^{\omega} = \frac{1}{\log_{\omega}^r = \frac{1}{r}} = r \quad -5$$

$$\log_{10}^r = \frac{\log_r^4}{\log_r^{10}} = \frac{1 + \log_r^r}{1 + \log_r^{\omega}} = \frac{1 + \frac{\omega}{r}}{1 + \frac{r}{r}} = \frac{1+r}{r}$$

$$\log_r^b = 1/0$$

$$\log_r^r = 1/4 \Rightarrow \log_r^r = \frac{1}{\log_r^r} = \frac{1}{1/4} = \frac{\Delta}{\Lambda}$$

$$\log_{10}^r = \frac{\log_r^r}{\log_r^{10}} = \frac{1 + \log_r^r}{1 + \log_r^{\Delta}} = \frac{1 + \frac{\Delta}{\Lambda}}{1 + \frac{r}{r}} = \frac{1r}{r}$$

$$\log_{\Lambda}^{1\Lambda} = m$$

$$\log_{\Lambda}^{1\Lambda} = \frac{\log_r^{1\Lambda}}{\log_r^{\Lambda}} = \frac{1 + r \log_r^r}{r}$$

$$\frac{r \log_r^r + 1}{r} = m \Rightarrow \log_r^r = \frac{r m - 1}{r}$$

$$\log_r^{1r} = \frac{\log_r^{1r}}{\log_r^{\Sigma}} = \frac{r + \log_r^r}{r} \rightarrow \frac{r + \frac{r m - 1}{r}}{r} \xrightarrow{\times \frac{r}{r}} \frac{r + r m - 1}{\Sigma} = \frac{r m + r}{r}$$

$$(\frac{1}{r})^{rx-1} = (\frac{1}{\Lambda})^{rx} \Rightarrow (\frac{\Sigma}{1})^{rx-1} = (\frac{\Delta}{r})^{rx} \Rightarrow (\frac{r}{\Delta})^{rx-1} = (\frac{\Delta}{r})^{rx}$$

$$-rx + 1 = rx \Rightarrow rx^r + rx - 1 = 0 \quad \begin{cases} x = -1 \\ x = -\frac{c}{a} = \frac{1}{r} \end{cases}$$

$$\log_{\Lambda}^{(rx+1)} = \log_{\Lambda}^{\Sigma} = \log_r^{r\Sigma} = \frac{r}{r} \log_r^r = \frac{r}{r}$$

$$\log_r^r = a \quad \log_{\Lambda}^b = \frac{r}{r} (1 + \log_r^r) = \frac{r}{r} (\log_r^r + \log_r^r)$$

$$\log_{\Lambda}^b = \frac{r}{r} (a+1)$$

$$\frac{r}{r} \log_r^r = \log_{\Lambda}^{ry} \Rightarrow \log_{\Lambda}^b = \log_{\Lambda}^{ry} \Rightarrow b = ry$$

$$\log^{(rb-a)} = \log^{(1...)} = r$$

$$\frac{1}{a+b} = \frac{1}{5} = \log^{\Sigma} \rightarrow S = \log_{\Sigma}^1$$

$$S = \frac{b}{fa}$$

$$\frac{b}{fa} = \log_r^1 \Rightarrow \frac{fa}{b} = \log^r \Rightarrow \frac{a}{b} = \frac{1}{\Sigma} \log^{\Sigma}$$

$$b+c = ra \Rightarrow c = ra - b \quad \frac{a}{b} = \frac{1}{r} \log^r \Rightarrow a = (\frac{1}{r} \log^r) b$$

$$c = \log_r^r b - b = b (\log_r^r - 1) = -b (1 - \log_r^r) = -b (\log^1 - \log^r)$$

$$= (-\log^0) b \Rightarrow \frac{c}{a} = \frac{-\log^0 b \times r}{\cancel{r} \log_r^r} = -r \log_r^0 \Rightarrow (\frac{1}{\sqrt{r}})^{\frac{c}{a}} = (r^{\frac{1}{2}})^{\log_r^0}$$

$$\log_r^{r^{\frac{1}{2}}} = \log^{\frac{1}{2}} = \frac{1}{\sqrt{0}}$$